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Chapter 1 (Introduction)

Notes on a Market Neutral Strategy

In this section of these notes we outline and derive some basic formulas used in pair trading
for easy reference. Some of these ideas are discussed in the book while others are not. To
begin we recall the stock-market line (SML) for the “p”th security is defined by

Tp:ﬁrm“‘epa (1)

here 7, could be the rate of return from a specific stock or from a portfolio of stocks and

where [ is computed from
_cov(Tp, Tm)

B= (2)
When we talk about market-neutral strategies we are seeking strategies where the calculated
B coefficient above [ ~ 0. From the manner in which [ is calculated this means that we
seek a portfolio with returns r, such that

var(r,,)

cov(ry,rm) =~ 0.

If we consider the simplest portfolio possible, that of one, consisting of just two stocks A
and B where each stock has its own CAPM decomposition given by

ra = Barm+0a

rg = Bprm+0s,

and our portfolio will consist of a fraction, wyu, of our total investment dollars Xy in the
A instrument and of wg = 1 — wy fraction of our total investment dollars X, in the B
instrument. This means that the amount of money invested in A is X4, = ws Xy and in B is
Xp = wpXy. With this partition of X into X4 and Xpg the rate of return on the portfolio
is given by [3]

TAB = WATA+ WRBTR
= wA(BArm+9A)+wB(BBrm+HB)
= (wafa+wpBp)rm +wabs +wpbp .

Thus we see that the coefficient of the market return r,, in this two stock portfolio is given
by wafs+wplfr. When we say that this portfolio is market-neutral we are stating that this
coefficient is zero. We can construct a market-neutral portfolio by selecting the coefficients
w4 and wp such that we enforce this constraint. That is

waPBas +wpfp =0,

or
wa  Bp
ma_ G2 )
Wwp Ba

Since with a pair trade wg = 1 — w4 we can solve for w4 (equivalently wg) in terms of the

factor exposures 34 and Sg. When we do this we find

. Bs
v = Ba— BB 4)



Using these formulas we can derive the number of shares to transact in A and B simply
by dividing the dollar amount invested in each by the current price of the security. The

formulas for this are
Ny

Np

X4 wAX0:_<ﬁiB)& (6)

PA PA Ba—Bs) pa
& _ wpXo _ ( Ba ) & (7)
PB PB Ba—Bs) pB '

This means that given the number of shares we will order for A (or B) to get a market-
neutral portfolio are directly related to their factor exposures S84 and Sz using the above
formulas. An example MATLAB script that demonstrates some of the equations is given in

sample_portfolio_return.m.



Chapter 2 (Time Series)

Notes on time series models

See the MATLAB file ts_plots.m for code that duplicates the qualitative time series pre-
sented in this section of the book. The results of running this code are presented in Figure 1.
These plots agree qualitatively with the ones presented in the book.

Notes on model choice (AIC)

In the R file dup_figure 2_5.R we present code that duplicates figures 2.5A and 2.5B from
the book. When this code is run the result is presented in Figure 2. We see the same
qualitative figure as in the book, namely that the AIC is minimized with 4 parameters
(three AR coefficients and the mean of the time series). While not explicitly stated in the
book, I'm given the understanding that the author feels that the use of the AIC to be very
important in selecting the time series model. In fact if a time series is fit using R with the
arima command one of the outputs s the AIC. This makes it very easy to use this criterion
to select the model we should use to best predict future returns with.

Notes on modeling stock prices

In this subsection of these notes we attempted to duplicate the qualitative behavior of the
results presented in this chapter on modeling stock prices of GE. To do this we extracted
approximately 100 closing prices (data was extracted over the dates from 01/02/2010 to
06/04/2010 which yielded 107 data points) and performed the transformation suggested in
this section of the book. This is performed in the R code dup_modeling stock_prices.R and
when that script is run we obtain the plots shown in Figure 3. From the plots presented there
it looks like the normal approximation for the returns of GE is a reasonable approximation.
The plots in Figure 3 also display the well know facts that the tails of asset returns are not
well modeled by the Gaussian distribution. In fact the returns of GE over this period appear
to be very volatile.
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Figure 1: A duplication of the various time series model discussed in this chapter. Top
Row: A white noise time series and a MA(1) time series. Bottom Row: An AR(1) time
series and a random walk time series.
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Figure 2: The AIC for model selection. Left: The time series generated by an AR(3)
model. Right: The AIC for models with various orders plotted as a function of parameters
estimated.
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Figure 3: Modeling of the returns of the stock GE. Top Row: The log price time series of
the closing prices of GE. The first difference of these log prices (the daily returns). Bottom
Row: A qg-plot of GE daily returns and the autocorrelation function of the returns. Note
that from the qg-plot we see that for “small” returns a normal approximation is quite good
but that the extreme returns observed don’t fit very well with a normal model. Perhaps
options on GE were mispriced during this time frame.



Chapter 3 (Factor Models)

Notes on arbitrage pricing theory (APT)

We simply note here that given an explicit specification of the k factors we desire to use in
our factor model (and correspondingly their returns r;) one can compute the factor expo-
sures (01, B2, + -+, Bx) and the idiosyncratic return r, simply by using multidimensional linear
regression. Namely we seek a linear model for r using r; as

r = Biry+ Boro + Bar3 4 -+ Brrp + 1. (8)

Thus the technique linear regression enables us to determine the factor exposures § and
the idiosyncratic returns r. for each stock. As an example of this technique, one might
consider using a sector “spdr” based factor model. This means that given a particular
instrument we will linearly regress its close-to-close log-return on the “sector spdrs”,

XLB, XLE, XLF, XLI, XLK, XLP, XLU, XLV, XLY,

using Equation 8. In this case the indexes 1,2, -, k refer to the sector spdrs in that, r; is
the close-to-close log-return of the i-th sector spdr. Alternative factor models might be

e a factor model based on a broad market index (like SPX), a technology index (like
NDX), and a small cap index (like RUT)

e a factor model based on a broad market index (like SPX), a bond ETF fund, and a
gold ETF fund

e a factor model based purely on statistics (eigenvector/eigenvalue factor model).

We explicitly specify an implementation for the three index factor model (NDX/SPX/RUT)
in the following python code

e In the code load factor_exposure matrix.py we compute the factor exposure matrix

X.
e In the code load factor_cov_matrix.py we compute the factor covariance matrix V.

e In the code load specific_variance matrix.py computes the specific variance ma-
trix A.

The factor covariance matrix

With the following APT factor decompositions for two instruments A and B
k
T4 = ZﬁA,ﬂ”i + 4.
i=1

k
rg = E BT + TBe,

j=1



then we have that the product of the two returns r4rp is given by

AT = Z Z BA Z/BB,jrlr] +7ra e Z 5B,jrj + TB,e Z 5A i +7a el'Be -

=1 j5=1

To compute the covariance of r4, and rg we take the expectation of the above expression
and use the facts that

k k

E|rae g BB,;r; E |rBe E Bairi
j=1 =1

since 74 . and 7 are assumed to be zero mean uncorrelated with the factor returns r;, and

uncorrelated with idiosyncratic returns from different stocks. Using these facts we conclude
that

ko k
cov(ra,rg) = ZZﬁAzﬁB,J [rirj]

= E[TA,eTB,e] =0,

i=1 j=1
E[ri]  Elrirs] -+ Elrirg BB
= [ Bax Baz -+ Ban ] E[T.ﬂ”l] E[r%] E[T?Tk] BJ,B’2
Blren] Blnrd - E0E) | | Boe
= ey Ve,
where eq = (Ba1, Baz2, -, Bax) and ep = (Bs1, 882, - Bk are the vectors of factor

exposures for the A and B-th security respectively and V is the factor covariance matrix.

Using a factor model to calculate the risk on a portfolio

Recall that the total return variance on our portfolio is the sum of two parts, a common
factor variance and a specific variance as

2 2 2
Oret = Oct + Uspeciﬁc . (9)

Arbitrage pricing theory (APT) tells us that the common factor covariance is computed from
eZVep where e, is the factor exposure profile of the entire portfolio. Thus to evaluate the
common factor variance for a portfolio we need to be able to compute the factor exposure
e, for the portfolio. As an example, in the simplest case of a two stock portfolio with a hy
weight in stock A and a hp weight in stock B then we have a factor exposure vector e, given
by the weighted sum of the factor exposure profiles of A and B as

e, = haea + hpegp .

Where if we assume a two factor model eq = (841, 842) is the factor exposure profile of
stock A and ep = (8p1, fp2) is the factor exposure profile of stock B. Using the above, we
have that

e, = (haBai+heBpi,haBaz+ helpz2)

_ Bai Bagz | _
= [ha D5 ] [53,1 BB,2 } = hx.

A9 V4 NPNSRYR Y R N IR I AR 44 I I RS BRI AN Ry RN T A IR N T ARSI J NP G A



Notes on the calculation of a portfolios beta

As discussed in the text the optimal hedge ratio A between our portfolio p and the market
m is given by

\ = cov(Tp, T'm) . (10)

var(r,,)

To use APT to compute the numerator in the above expression requires a bit of finesse or
at least the expression presented in the book for A seemed to be a jump in reasoning since
some of the notation used there seemed to have changed or at least needs some further
explanation. We try to elucidate on these points here. In general, the original portfolio
p will consist of a set of equities with a weight vector given by h,. This set of stocks is
to be contrasted with the market portfolio which may consist of stocks that are different
than symbols in the portfolio p. Lets denote the factor exposure matrix of the stocks in the
portfolio as X, which will be of size N, x k and the factor exposure matrix of the market as
X, which will be of size NN, x k. Here where N, is the number of stocks in our portfolio,
N,, is the number of stocks in the market portfolio, and £ is the number of factors in our
factor model. Note the dimensions of X,, and X, maybe different. Then using ideas from
this and the previous section means that the common factors variance ¢% can be expressed
by multiplying e, = h,X,, on the left and e,, = h,,X,,, on the right of the common factor
covariance matrix V as

0% =h,X,V(h,X,,)" =h,X, VX' h’

Now even if the dimensions of X, and X, are different the product above still is valid. The

specific variance 02,5, needed to evaluate cov(r,, 7,) in this case is given by

02 i = h A h’
specific p,common =common=-m, common

where A ommon 18 a diagonal matrix with the specific variances of only the stocks that are in
common to both the original portfolio and the market portfolio. If there are no stocks that
meet this criterion then this entire term is zero. Another way to evaluate this numerator is to
simply extend the holding vectors of both the portfolio and the market to include all stocks
found in either the original and the market portfolios. In that case the portfolio holdings
vector, h,, would have zeros in places where stocks are in the market but are not in our
portfolio and the market holdings vector, h,,, would have zeros in places where there are
stocks that are in our portfolio but not in the market portfolio.

Notes on tracking basket design

In this section of these notes we elucidate on the requirements to design a portfolio p that will
to track the market m as closely as possible. Using APT to evaluate the variance of r,, —1,,
we are led to look for a holding vector h, such that minimizes the following expression

var(ry, —rp) = var(ry,) + var(ry) — 2cov(ry, )
= h,XVX'h? + h,,AhZ (11)
+ h,XVX'h! +h,Ah’ (12)
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Here the three parts represented by the terms on lines 11, 12 and 13 above are the market
variance, the tracking basket variance, and the covariance between the market and the
portfolio respectively. We can also write this objective function as

var(ry —1,) = h,XVX'h] +h,XVX"h] — 2h, XVX"h] (14)
+ h,Ah] +h,Ah” — 2h, Ah” (15)

The terms on lines 14 are the common factor terms and the terms on line 15 are the specific
variance terms. Now it might be hard to optimize this expression directly but we can derive
a very useful practical algorithm by recalling that the contribution to the total variance
form the common factor terms on line 14 is normally much larger in magnitude than the
contribution to the total variance from the specific terms on line 15. Thus making the
common factor terms as small as possible will be more important and make more of an
impact in the total minimization than making the specific variance terms small.
With this motivation, observe that if we select a portfolio holding vector h,, such that

h,X = h,, X, (16)

then the combination of the three terms h,, XVX"h], h,XVX"h[ and —2h,,XVX"h] on
line 14 vanish (leaving a zero common variance) and we are left with the following minimum
variance portfolio design criterion
. T T
h,,:hglclfhmx(hmAhm +h,Ah, — 2hmAhp) )

This remaining problem is a quadratic programming problem with linear constraints. As a
practical matter we will often be happy (and consider the optimization problem solved) when
we have specified a portfolio that satisfies h,X = h,,X. As a notational comment, since the
definition of the factor exposures of the portfolio and the market are given by e, = h,X and
e, = h,,X the statement made by Equation 16 is that the factor exposures of the tracking
portfolio should equal the factor exposures of the market.

If the specific factors selected for the columns of X are actual tradable instruments then
the criterion h,,X = h,X, explicitly states how to optimally hedge the given portfolio, p, so
that it will be market neutral. To see this note that the holding vector h, has components,
hi ,, that represent the percent of money held in the ith equity. If we multiply the portfolio
holding vector h,, by the dollar value of the portfolio D we get

Dh, = (Dhyp, Dhyy, Dhs ., - -+, Dhy ) = (N1p1, Napo, N3ps, - -+, NNpN)

where V; and p; represents the number of shares and current price of the ¢th security and there
are N total securities in our universe. If the columns of our factor exposure matrix represent
actual tradable instruments, then each component of the row vector Dh,X represents the
exposure to the given security (factor). If the elements of X are ﬁi(j ) we can write the jth
component of the product Dh,X (representing the exposure of this portfolio to the j factor)
as

N
(Dh,X); = > Nipip”,
=1
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we do this the combined holdings of the original portfolio and the newly constructed market
portfolio will be market neutral and will have a very small variance.

For example, assume we have only three factors £ = 3 and we take as the market holding
vector h,, a vector of all zeros except for the three elements that correspond to the tradable
factors. If these three tradable factors are located at the indices 71, 75 and i3 among all of
our N tradable securities then we get for the jth component of Dh,, X

N
(Dth)] = Dzhz,mﬁf]) = ( 21,m5“ _l'hzz, 6(] +h23,m5g))

= Nupuﬁzl +Nl2pl2ﬁ(] _'_NZSpZSﬁZ(g)

Here N;, is the number of shares in the jth factor and specifying its value is equivalent to
specifying the non-zero components of h,,, and p;, is the current price of the j factor. If we
write out Dh,X = Dh,,, X for the three factors j = 1,2, 3 we get three linear equations.

N
1 1) 1
Z szlﬁz( ) = N21p21 57,(1) + Nl2pl2ﬁ( + Nlaplaﬁz(g)
N
Z Nipiﬁi(z) = Nilpilﬁi(lz) + NiQPigﬁi(f) + Nigpigﬁi(f)

N
Z Nz‘piﬁi(s) = Nilpilﬁi(f) + NiQPigﬁi(f) + Nigpisﬁi(f)

Since each of the given factors is a tradable we expect that the 3 values above will be 1 or
0. This is because when we do the factor regression

k
=> Bri+e,
7=1

on the 7; security the only non-zero 3 is the one for the 7; security itself and its value is 1.
Thus the system above decouples into three scalar equations

N
ZNJ%‘@(I) = Nupi
N

ZNJ%‘@@ = Ni2pi2

N
ZNJ%‘@(?’) = NiyDis

for the unknown values of N;,, N;, and N;,. These are easily solved. Buying a portfolio
of the hedge instruments in share quantities with signs opposite that of N;,, N;, and N,
computed above will produced a market neutral portfolio and is the optimal hedge.

As a very simple application of this theory we consider a single factor model where the
R T (Y R T IR (R PSR PRy R [ B A R T PR PSR I I PR’ S 1 SR



We then ask what the optimal number of shares Np of a stock B, trading at pp and with
a market exposure of Sg, we would need to order so that the combined portfolio is market
neutral. Using the above equations we have

Bapa
ﬁBpB

NapaBa = NpppBp so Np= Na.

Thus we would need to sell Ng shares to get a market neutral portfolio. This is the same
result we would get from Equation 7 (with a different sign) when we replace Xy with what
we get from Equation 6. The fact that the sign is different is simply a consequence of the
conventions used when setting up each problem.



Chapter 4 (Kalman Filtering)

Notes on the text

A very nice book, that goes into Kalman filtering in much more detail is [2].

the scalar Kalman filter: optimal estimation with two measurements of a con-
stant value

In this section of these notes we provide an alternative an almost first principles derivation
of how to combine two estimate of an unknown constant x. In this example here we assume
that we have two scalar measurements y; of the scalar x each with a different uncertainty
o?. Namely,

zi=x+wv; with v~ N(0,07).

To make these results match the notation in the book the first measurement z; corresponds
to the a priori estimate Z;; with uncertainty 052,2‘ and the second measurement z5 corresponds
to y; with uncertainty Uii. We desire our estimate Z of x to be a linear combination of the
two measurements z; for © = 1,2. Thus we take £ = kyz; + ko2, and define  to be our
estimate error given by & = & —x. To make our estimate & unbiased requires we set E[z] =0
or

Elz] = Elki(z+v)+k(x+wv)—2]=0
= E[(l{il + ]{72)1’ —+ ]{711)1 + ]{ZQ’UQ — LL’]
= E[(l{il + ]{72 — 1)1’ + ]{711)1 + ]{ZQ’UQ]
= (kfl—l-kig)l’—l':(k‘l—l—k?g—l)l':o,
thus this requirement becomes ky = 1 — k; which is the same as the books Equation 1.0-4.

Next lets pick k; and ks (subject to the above constraint such that) the error as small as
possible. When we take ko = 1 — k; we find that 2 is given by

T = ]{7121 + (1 - ]{71)22,
so T is given by
T = t—x=kixn+(1—-k)xn—=x
= ki(z+v)+ 1 —Fk)(z+wv)—=z
= k’lvl + (]. — ]{?1)’1}2 . (17)
Next we compute the expected error or E[Z%] and find
E[Zi’2] = E[k‘%v% + 2]{31(1 — k’l)vl’Ug + (1 — k1)2v§]
k20?4 2k (1 — k1) E[vyvg] + (1 — ky)%02
= kjoi + (1 —ki)%03,
since FE[v1vy] = 0 as vy and vq are assumed to be uncorrelated. This is the books equation 1.0-

5. We desire to minimize this expression with respect to the variable k;. Taking its derivative
with respect to ki, setting the result equal to zero, and solving for k; gives

9



Putting this value in our expression for E[7?] to see what our minimum error is given by we

find

2 2 2 2

El#? = 2 2 01 2

] (a§+a§) it ) 7

2 9 2

010, 2 2 0103

= o, +07) =
oTrolE 2T = ey

which is the books equation 1.06. Then our optimal estimate z take the following form

(BN
t=——2= |2z — ) 2.
o2+ 03 o+ o3

Some special cases of the above that validate its usefulness are when each measurement
contributes the same uncertainty then o; = o, and we see that = %zl + %zz, or the average
of the two measurements. As another special case if one measurement is ezact i.e. o; = 0,
then we have Z = z; (in the same way if o9 = 0, then & = z3). These formulas all agree with
similar ones in the text.

Notes on the filtering the random walk

In this section of these notes we consider measurements and dynamics of a security as
it undergoes the random walk model. To begin, we write the sequence of measurement,
state propagation, measurement, state propagation over and over again until we reach the
discrete time ¢ where we wish to make an optimal state estimate denoted z;. Denoting
the measurements by y; and true states by x; this discrete sequence of equations under the
random walk looks like

Yo = xo+ey 0th measurement
r1 = xp-+¢&1 propagation
y1 = x1+e; 1st measurement
Ty = x;+¢&y propagation
Yo = 9+ ey 2nd measurement
T3 = X9+ €3 Ppropagation
Y3 = 3+ ez 3rd measurement
ry = x3-+e€4 Ppropagation
Y1 = T4—1 + €1 't —17th measurement
Ty = T4 +& Ppropagation
y: = x;+e; our final measurement.

Here z; is the log-price and y is a measurement of the “fair” log-price both at time . Now we
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measurements o, Y1, - -,y but only 2t + 1 equations. To estimate the values of x; for all
t we can use the method of least squares. When e; and e; come from a zero-mean normal
distribution with equal variances this procedure corresponds to ordinary least squares. If
e; and €, are have different variances we need to use the method of weighted least squares.
To complete this discussion we assume that the process noise and the measurement noise
are the same so that we can use ordinary least squares and then write the above system as
the matrix system

Yo 1 0 0 0 0 0 €o
0 -1 1 0 0 0 —&1
n 0 1 0 0 0 [z | e
0 0 -1 1 0 0 T —&5
Yo 0 0 1 0O O To €9
0 0 0 —-1 1 0 T3 —&5
s |1 0 0 0 1 0 z | T e
0 0 0 0 -1 1 —&4
. . . . : T :
Yi—1 0 1 0 | Tt ] €t—1
0 0 -1 1 —&y

2 0 0 0 1 e

Here the pattern of the coefficient matrix in front of the vector of unknowns, denoted by H,

is constructed from several blocks like [ _11 (1) } , placed on top of each other but translated

one unit to the right. This matrix can be created for any integer value of ¢ using the
MATLAB function create_ Hmatrix.m. Once we have the H matrix the standard least
square estimate of the vector x is obtained by computing # = (HT H)"*HTy, where y is the
vector left-hand-side in the above matrix system. Since the y vector has zeros at every other
location these zeros make the numerical values in the corresponding columns of the product
matrix (HTH)™*H? irrelevant since their multiplication is always zero. Thus the result of
the product of (HTH)™*H?T and the full y is same as the action of the matrix (H? H) " 'HT
with these zero index columns removed on the vector y again with the zeros removed. Thus
the discussed procedure for estimating x is very inefficient since all the computations involved
in computing the unneeded columns are unnecessary. An example to clarify this may help.
If we take ¢t = 2 in the above expressions and compute (HT H)"'H” we get the matrix

5/8 -3/8 1/4 -1/8 1/8
1/4 1/4 1/2 -1/4 1/4
1/8 1/8 1/4 3/8 5/8

Now y when t = 2 in this case is given by

Yo

Y2



Then due to the zeros in the vector y the product & = (HTH) 'H"y is equivalent to the
simpler product

Zo 5/8 1/4 1/8 Yo

T | =11/4 1/2 1/4 Y1

T 1/8 1/4 5/8 Yo

If we express the above matrix product as a sequence of scalar equations we have

. 5 1 1
To = g% + na + Y2
. 1 1 1
o= 7 + oY + ne
. 1 1 5
T2 = 2 + na + gY2

Note that this formulation gives us estimates of all components of x and that the estimates of
data points earlier in time depend on measurements later in time making them not practical
for a fully causal algorithm (smoothing is a possibility however). From the above we see that
the optimal estimate of z5 is given by

. 1 N 1 n 5
To = — — =

2 S?JO 491 8y27
this agrees with the result in the book. Thus the elements of (HT H)™*H” eventually become
weights to which we multiply the individual measurements y;. When we take ¢ = 3 and
remove the columns (H? H)™'HT corresponding to the zero elements of y we get a matrix

of weights

13/21 5/21 2/21 1/21

5/21 10/21 4/21 2/21 | _
2/21 4/21 10/21 5/21 | Y
1/21 2/21 5/21 13/21

where y has the same elements of y but with the zeros removed. Performing one more
example, when we take ¢ = 4 and remove the columns (HTH) 'HT corresponding to the
zero elements of y we get a matrix of weights

=>
Il

34/55 13/55 1/11 2/55 1/55
13/55 26/55 2/11 4/55 2/55
111 2/11 5/11 2/11 1/11 | .
2/55 4/55 2/11 26/55 13/55
1/55 2/55 1/11 13/55 34/55

=
I

See the MATLAB file equal variance kalman weights.m where we calculate these matri-
ces. The weights used to optimally estimate x; are given by the last row in the above two
matrices. Thus as we add samples the amount of computation needed to estimate x; in this
manner increases. The reformulation of this least squares estimation of x; into a recursive
algorithm that avoids forming these matrices and requiring all of this work is one of the
benefits obtained when using the time domain Kalman filtering framework.

If we recognize from the examples above that the effect in the estimate of x; on observed
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of t, form the matrix (HTH) *H? once to compute a set of constant weights and simply
use these weights into the future. It can be shown that for a general time ¢ the weight w; to
apply to y; in the approximation

it = woyt + wlyt—l _I_ w2yt_2 + e + wt—lyl _I_ wty() ’ (18)
are given by
(wo, w1, w Wy, 0y) = (F2(t+1)—1 Foury—3 Fopq1)—s Py £ )
0, W1, W2, ", -1, - ) ) S 3 .
t t Fourny  Fopgry  Fopg Foern)’ Faer)

If we let t — oo these weights go to

11 1 1 1
) = (G o )
where g = 1+T\/5 ~ 1.6180 is the golden ratio. If we filter under the assumption of large ¢ we
can save a great deal of computation by avoiding the entire computation of (HT H) " 'HTy
and simply using these golden ratio based (and fixed) weights. This will be explored in the
next section.

Notes on the example of smoothing the Standard & Poor index

In this section of these notes we discuss the application of Kalman filtering a random walk to
the log prices of the SPY ETF. Based on discussions from the previous section if we assume
t > 1 and recognize that the golden ratio weights w; = g%% decay exponentially with ¢
we can simply choose to truncate the weights after some point and our Kalman filter then
becomes as a weighted sum of log prices as expressed in Equation 18. Thus in this section we
get price data on the ETF SPY, take the logarithm, and filter these using the top n weights.
If we wish to perform coarser smoothing on our data, since a down-sampled random walk
is still a random walk (but with a larger innovation variance) we can apply the formula in
Equation 18 on every other data point and duplicate the figure “kalman smoothing of a
random walk”.

We can implement coarser Kalman filtering by any number of days very easily using
the MATLAB filter function by taking the default golden ratio weights above and then
inserting a fixed number of zeros in between each element. We can produce the the new vector
of filter weights with the following MATLAB code (when we want 2 days of smoothing)

N_ds = 2; % want this many days of smoothing
wts_ds = [];
for ii=1:length(wts)
wts_ds = [wts_ds,wts(ii)];
for jj=1:N_ds-1, % put this many zeros into our filter
wts_ds = [wts_ds,0];
end
end

Using the vector wts_ds we can then directly filter the log prices with the filter func-
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between the log prices and the filtered values.



Chapter 5 (Overview)

Notes on cointegration: the error correction representation

As a link to the real world of tradables it is instructive to note that the nonstationary series
x; and y; that we hope are cointegrated and that we will trade based on the signal of are the
log-prices of the A and B securities

v = log(p) (19)
ye = log(pf). (20)

Under this realization the error correction representation of cointegration given by

T — o1 = (T — YY—1) + Exy

Y — Y1 = (o1 — Y1) + €y s

is a statement that the two returns of the securities A and B are linked via the stationary
error correction term x; 1 — yy,;_1. This series is so important it is given a special name and
called the spread. Notice that in the error correction representation spread series affects the
return of A and B via the coefficients «, and o, called the error correction rates for x; and
y;. In fact we must have o, < 0 and o, > 0 (see the Matlab script cointegration_sim.m).
The fact that it should be stationary might give a possible way to find the v parameter in
cointegration. Simply use stationarity tests on the spread time series for various values of ~
in some range and pick the value of v that makes the spread series “most” stationary. We
expect that the spread time series to reach some “long run equilibrium” which is to mean
that x; — vy, oscillates about a mean value p or

Ty —YYe ~ i as t— 00.

If we can take the approximation above as an equality we see that using Equations 19 and 20
give
log(p;') — 7log(p) = n,

or solving for p? in terms of p* we find
pi =), (21)

is the long run price relationship. The error correction representation is very easy to sim-
ulate. In the MATLAB function cointegration sim.m we duplicate the books figures on
cointegration. When that code is run it generates plots as shown in Figure 5.

Notes on cointegration: the common trends model

Another characterization of cointegration is the so called common trends model, also
known as the Stock-Watson characterization where the two series we assume are cointe-
grated are represented as

Ty = nl‘t + El‘t
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Figure 5: A demonstration of two cointegrated series. See the text for details.

In this formulation, to have the above equations represent prices in our tradable universe
the series x; is the given stocks log-price i.e. z; = log (pf), which we have been assuming is
a nonstationary random walk like term, the series n,, is the nonstationary common factor
“log-price” (such that the first difference of n,, is the common factor return), and ., is the
idiosyncratic log-price (again such that the first difference of ,, is the idiosyncratic return)
which we assume is stationary. If we desire that some linear combination of x; and ¥, be a
fully stationary series when we compute z; — vy, we find

Ty — VYt = (nwt - 7”%) + (gmt - fygyt> :
Thus to be stationary means that we require
Ng, — YNy, =0, (22)

or in terms of prices that the common factor log-prices are the same up to a proportionality
constant . This condition is a bit hard to work with and we will see simplified criterion
below.

Notes on applying the cointegration model

In this section of these note we make some comments on how to apply the theory of coin-
tegration to trade pairs of stocks. We focus on what has been discussed in this text and
then at the end make some comments about alternative techniques discussed in other books.
As a first step we select a pair of stocks to potentially trade and compute the cointegration
coefficient v for that pair. Methods to select the exact pairs to trade will be discussed in
the following chapter on Page 25. Then we trade based on the instantaneous value of the
spread defined by

spread, = log(p;') — vlog(p/’) (23)
The basis for this decision is the fundamental fact that we expect the right-hand-side of the

above expression to be a constant value (perhaps very slowly changing) and a deviation term

that is mean reverting. That is our model for price movement between the two securities A
PR B 5 B



How well the following trading strategy will work depends on whether this model holds in
the future. The above Equation 24 expresses log(ps!) as a linear function of log(p?). This
motivates one procedure for estimating 7, i, and o2 that of using linear regression on log
prices see Page 29.

When the spread time series is at a “historically” large value (of either sign) we construct
a portfolio to take advantage of the fact that we expect the value of this expression to mean
revert. If we consider a portfolio p long one dollar share of A and short v dollar shares of B
then the return on this portfolio from time ¢ to ¢t + 7 is given by

A B
DPiti Pt
log < = ) — ylog < “ ) = log(pi;) — log(pi') — v(log(pE,;) — log(pf))

t t
= log(pi;) — vlog(pis) — (log(pi') — vlog(py’))
= spread,,; — spread, .

From this expression we see that to maximize the return on this pair portfolio we wait until
the time ¢ when the value of spread, is “as small as possible” i.e. less that i — nyentryA,
the mean spread, p, minus some number, 1 enpry, of spread standard deviations A. We get
out of the trade at the time ¢ + ¢ when the value of spread,; is “as large as possible” i.e.
larger than 1+ 1y exit A, for some other number, 7, . The pairs trading strategy is then
summarized as

e If we find at the current time ¢ that
spread, < ft — N entry A, (25)

we buy shares in A and sell shares in B in the ratio of Ny: Ng = 1: v, and wait to
exit the trade at a time ¢ + 7 when

spread,,; > [t + N exit A - (26)
Here 1y entry and ny exi¢ are long spread entry and exit threshold parameters respectively.

e If instead we find at the current time ¢ that
spread; > [t + N entry A (27)

we do the opposite trade. That is, we sell shares in A and buy shares in B in the ratio
Ny: Np =1: 7, and wait to exit the trade until the time ¢ 4 ¢+ when

spread, ; < ft — Mg exit A . (28)

Here ngentry and ng e are short spread entry and exit threshold parameters respec-
tively.

Now if we buy N, shares of A and Npg shares of B in the ratio 1: yi.e. Ng: Ng = 1: ~ this

means that we require
Ny

1
. 29
NB Y ( )



Using these same ideas, we can also determine a spread based stop loss in a similar manner.
For example, if at the time ¢ we determine via Equation 25 that we would like to be long a
unit of spread, then by picking a stop loss spread threshold, ng, at the point we enter the
trade we can evaluate the value of

spread, — ngA.

If at any point during the trade of this spread unit if the current spread value falls below
this value i.e. spread, ; < spread, — ngA, we should assume that the spread is not mean
reverting and exit the trade.

The above expression for spread are not the only ones possible. In all cases however how
good the pairs trading strategy performs is based on how mean reverting the expression for
spread is. Thus we assume that each spread expression can be written as a constant plus a
mean reverting term or p + ;. Based on various books on pairs trading the spread signal
we a use to trigger can be based on

e spread, = % ~ pu+ &, or the ratio of prices see [4].

e spread, = log(ps!) —vlog(p?) ~ 1 +e;. In other words the log prices of A are regressed

on the log prices of B see [5].

e spread, = p! —yp? ~ p+e. In other words the untransformed prices of A are regressed
on the untransformed prices of B see [1].

All three could potentially be a viable trading strategies. How well each one works depends
on how well each expression is a mean reverting time series going into the future and how
well the parameters estimated from the past time series hold true in the future.

One subtle difference among the second and third methods above is what the hedge ratio
~ represents in each case. In the case where we regress log prices on each other the hedge
ratio v represents the ratio of capital to apply to both sides of the trade. If we regress
untransformed prices on each other then the hedge ratio represents the ratio of shares to
apply to both sides of the trade. This is a subtle difference that seems somewhat overlooked
in many places in the literature.

Notes on how to pick the values of N, and Np

One of the problems I found when implementing this strategy directly was exactly how to
specify the values of N4 and Ny or the shares to be traded of the stocks A and B. While it
is clear that they should satisfy Equation 29, it seemed unclear exactly how to specify the
two values of N4 and Ny that combine in that ratio. This section discuss some ideas that
might be used to determine N4 and Np.

One idea is to specify these two shares amounts N4 and N such that the net imbalance
of the initial pair portfolio is “not too large”. Thus we introduce an imbalance threshold, ¢,
that we are willing to tolerate and then require that we pick N4 and Npg such that

|BapaNa — BpppNp| < t. (31)

Note that by convention N4 > 0 and Ng > 0 and thus we have introduced a minus sign in



Since we must have N4 and Np related via Ng = YNy when we put that relationship into
the above expression and solve for |[N4| we find

t

NA ~ . 32
[Nl |Bapa — VB5psl 32)
With | N4| specified as above we thus take |Ng| = v|Na|, or
vyt
Np| =~ . 33
Vo] |Bapa — Beps| (33)

The sign of Ny and Npg is determined by whether we want to go long or short a unit of
spread as determined by the above logic.

Another method one could use to specify the exact shares N4 and Ng to trade can be
obtained by considering Equation 29 and by writing the fraction % as a rational number say
p/q. If we can do this then we have

N A 1 _ P
Np 8 q

Thus one specification of Ny and Np that will make this true is to take Ny = p and

Np = ¢q. One way finds this rational approximation is to compute the continued fraction

approximation of %



Chapter 6 (Pairs Selection in the Equity Markets)

Notes on the distance measure

The distance measure we will consider is the absolute value of the correlation between the
common factor returns of two securities which can be written as

cov(ra,rp)

V/var(ra)var(rg)

d(A, B) = |p| =

Since we want to measure only the common factor return we should really write cov(-, -) and
var(-) with a cf subscript to represent that we only want the common factor variance of the
return as var.. From arbitrage pricing theory (APT) can write the above distance measure
in terms of the factor exposures e4, eg of our two securities, and the factor covariance matrix
V as

esVek

V/ (esVel)(epVel)
The book uses the notation x rather then e to denote the common factor exposure vectors

and F rather than V to denote the common factor covariance matrix. The notation in this
respect seems to be a bit inconsistent.

. (34)

lp| =

Reconciling theory and practice: stationarity of integrated specific returns

From this small subsection of the book we can take away the idea that for pair trading as
discussed in this book we will do two things

e Consider as a possible pair for trading any two stocks that have a large value of |p|
(defined above) and for any such pairs estimate their cointegration coefficient ~.

e Using this estimated value of v, form the spread time series defined by

log(p{') — 7 log(py’) ,
and test to see if it is stationary.

e [f this pair is found to have a stationary spread, we can trade when the spread is
observed to deviate significantly from its long run equilibrium value (denoted here as

1)
Notes on reconciling theory and practice: a numerical example
To test some of these ideas I implemented in the python codes
e find possible_pairs.py and
e multifactor_stats.py

a multifactor sector based pair searching strategy using the discussed pair statistics. Some
of the paire that the<ce rolitines fouind are cshown here-
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1168 members

.993515 SNR= 12.
.986572 SNR= 9.
.975303 SNR= 7.

1452 members

.998224 SNR= 10.
.993410 SNR= 6.
.989422 SNR= 5.

1056 members

.997625 SNR=  b.
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These pairs look like a representative selection of stocks one would consider to possibly
be cointegrated. Since the multifactor pairs searching strategy is quite time intensive we
perform this procedure rather infrequently (once a month).



Chapter 7 (Testing for Tradability)

Notes on estimating the linear relationship: various approaches

This section of the book seems to be concerned with various ways to estimate the parameters
~v and p in the definition of the spread time series given by Equation 23. The book proposes
three methods: the multifactor approach, the minimizing chi-squared approach, and the
regression approach. Here I summarize these methods in some detail. Note that in each ex-
pression, the parameters we are estimating could have a subscript to denote the independent
variable. For example, in estimating v we could call it 745 since we are assuming that the
B log prices of the stock is the independent variable. An expression for 74 can be obtained
by exchanging A and B in the formulas given. In general, we will compute both expressions
that is y4p and g4 and fix the (A, B) ordering for our stocks to enforce y4p > ypa. The
various approaches for estimate the statistics of the spread time series s; are

e Multifactor approach: This method is based on the decomposition of each stocks
return into factor returns and factor uncertainties. Given the common factor covari-
ance matrix, F, and each stocks factor exposure vectors e4 and ep, the cointegration
coefficient v under the method is given by

€£F63
V= :
egFeB

An expression for y is obtained by computing the mean of the spread time series. This
method is implemented in the routine multifactor_stats.py.

e Chi-squared approach: In this approach we pick the values of v and p to minimize
a chi-squared merit function given by

N
_y (log( pt — vlog(p?) — p)* (35)
var(e '

) + y2var(eP)

t=1

Here var(ef!) are variances of the errors in the observations of log(ps!), the same for

var(e?). When dealing with daily data we can estimate var(s7') by assuming a uniform
distribution between the low and the highest prices for that day and using the variance
of a uniform distribution given by

A

var(ef) = = (log(p"™) — log(pt™)) .

12
To implement the minimization of x? many optimization routines require the derivative
of the objective function they seek to minimize with respect to the variables they are
minimizing over, which in this case are (v,u). So that we have these derivatives
documented we derive them here. To evaluate these derivatives we define the residual
r; and total variance v; time series as

r = log(py') — ylog(py') — 1
v, = var(ep) + y2var(eh).



Using these we find

.
Xy, p) = o
=1 Ut
N

NC(nm) _ oy

8,u V¢

2 N ;
Nnnp) 3 <QE% _ T_t%) _QZ ( log(py’) + y%var(sf)) :
- t

This method is implemented in chisquared minimization_stats.py.

e Regression approach: This method is the most direct and is based on estimating
(v, 1) from the linear model

log(p;') = vlog(py) + 1.
This method is implemented in the python code linear regression_stats.py.

In the case where A and B satisfy Equation 24 we now show that regressing the log
returns of A against the returns of B also enable us to estimate the hedge ratio 7. The
other parameters ;1 and o2 would then have to be estimated in other ways. To show
this we form the return time series for A and B as

= log(p;") — log(p;t,)
= log(p/’) — log(p,) -

We next form the difference r* — 42 to find

rdt —yrE =log(p') — vlog(p?) — (log(pit,) — vlog(pZ,))
=(u+e)—(p+e) = —e1,

when we use the assumed log-price model given by Equation 24. From the above
we see that a the slope of a regression between r/* and rZ would give an estimate of
~. This procedure does not give an estimate of u since this cancels out in the above
simplifications.

Notes on testing the residual for tradability

After the initial selection of potential pairs to trade is made, one needs to construct the
spread time series given by Equation 23 and test it for tradability. In the best of cases the
spread time series will be composed of a mean offset © and a mean-reverting error term &
as
log(p;') — ylog(p’) = p+ e
Once can easily compute the spread time series and subtract its mean to obtain just the time
series of g;. To have the residual series £; be mean reverting means that this series should
have a large number of zero-crossings. One way to get a single estimate of the zero-crossing
rate is using
T-1

1 —



where spread, is our demeaned spread signal of length 7" and the indicator function I{A}
is 1 if the argument A is true and 0 otherwise. This is implemented in the python code
estimate _zero crossing rate.py. All things being equal we prefer residual series with
a large zero-crossing rate, since in that case we don’t have to wait long once we put on
a trade for convergence. The book argues that this single point estimate will be heavily
biased towards the particular spread time series under consideration and that a bootstrap
technique should instead be used to estimate the time between zero-crossings. This is done
in estimate_time between zero crossings.py. Once the time between zero-crossing has
been computed for each pair we sort the pairs so that the pairs with the shortest time
between zero-crossings are presented for potential trading first.

Backtest results

It seemed prudent to perform some backtesting to observe if any of the above methods for
estimating v better than the others. We then could then fix the method used to compute
vap and spend additional effort in other directions. In the following results, we fixed many
algorithm parameters at reasonable values and then ran parameter sweeps over nearby axil-
lary values. Since this resulted in many backtest results (one for each parameter setting) we
then computed the median value of the Sharpe ratio over all strategy run samples. This gave
one backtest result for all of the various versions considered. We present summary statis-
tics for this median PnL based strategy variant for monthly compute statistics for backtests
between 20100104 and 20110128. We found

(65): Multifactor_nss_short_sconv_0.8.stdout:> 0.163080839345

(63): ChiSquared_nss_long_sconv_0.4.stdout:> -1.24553409212

(63): CloseCloseRegression_nss_short_sconv_0.5.stdout:> -0.679766680284
(63): VWAPRegression_moa_0.9.stdout:> -1.25712936399

The period at the end of 2010 (September-December) was difficult for market neutral strate-
gies since the market gained considerably during that time. This indicates that we may
need to add a stoploss that depends on the future performance of the spread and whether
it is converging as expected or not. We then selected the multifactor estimation of v45 as
the best estimation method and ran many parameter variations over this same in-sample
time period. Given the best Sharpe ratio from the parameters tried we will then perform an
out-of-sample test using these numbers over the range of earlier dates: 20090104 - 20100104.
If the out-of-sample performance looks good we will trade this strategy.



Chapter 8 (Trading Design)

Notes on the trading strategy

Based on results from the book to this point the strategy we propose to implement is the
following. On a particular set day (say the first Friday of each month) we will find and extract
the most correlated pairs in each sector based on the correlation distance metric given by
Equation 34. We then need to determine which of these pairs are possibly cointegrated and
correspondingly have a stationary spread. To do this, we consider each possible pair and use
a bootstrap technique to estimate the mean time between zero crossings of the spread time
series. Pairs with the shortest mean time between zero crossings are considered optimal for
pairs trading. Then for each pair starting with “short” mean time between zero-crossings
we estimate the variance of the spread time series o and put on a trade (buy or sell one
spread unit) when we observe that the spread has deviated by more than A (often taken to
be A = 0.750) from its historical mean. This is as discussed on Page 21. We will only put
on a position if we do not already one in this pair. Assume that at time ¢ when we put on
the trade we have observed the spread spread, and can thus compute its sign. We buy a
unit of spread at the time ¢ if Equation 25 is true or sell a unit of spread if Equation 27 is
true. We then exit the trade if any of the following criterion have happend

e The spread time series has “mean reverted” (returned to zero or some equivalent met-
ric).

e The trade time limit (based on the mean time between crossings for this pair) has
expired.

e The paired porfolio’s return is greater than a given return profit target threshold ¢.
e The paired porfolio’s return is less than a given return stop loss threshold .
e The paired portfolio’s profit is greater than a given dollar profit target threshold V.

e The paired portfolio’s profit is less than a given dollar profit target threshold V.

Notes on band design for white noise

In this section of these notes we duplicate several of the results presented in the book
with the MATLAB command white noise band design.m. When this script is run the
results it produces are presented in Figure 6. To begin with we first reconstruct the exact
profit value function A(1 — N(A)) where N(-) is the cumulative density function for the
standard normal. This is plotted in Figure 6 (top). Next, we simulate a white noise random
process and estimate the probability that a sample from it has a value greater than A. This
probability as a function of A is plotted in Figure 6 (middle). Finally, using the above
estimated probability function we multiply by A to obtain the sample based estimate of
the profit function. A vertical line is drawn at the location of the empirically estimated
profit function maximum. These results agree with the ones presented in the book. A
python implementation of the count based probability estimator is given in the function
estimate_probabilitv_discrete_counts.pyv.



White Noise Threshold Design
0.18 T T T

Profit Valug

0.08 - =

0.06 - -

0.04 - =

0.02 =

I I I I I
[e] 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2
Amount of Sigma away from the Mean

Probability Estimates from Counts: 75 samples
0. T T T T T

0.45 — -

Probability
o
N
o
T
|

. . . . .
(o] 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2
Amount of Sigma away from the Mean

Profitability of Thresholds: 75 samples
0.2 T T T

Profit Valug
o
T
|

0.08 - -

0.04 - D

0.02 =

. . . . .
(o] 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2
Amount of Sigma away from the Mean

Figure 6: Duplication of the various profit value functions discussed in this chapter. Top:
A plot of A(1 — N(A)) vs. A where N(-) is the cumulative density function of the standard
normal. Middle: A plot of the simulated white noise probability of crossing the threshold
A as a function of A. Bottom: A plot of the simulated white noise profit function. The
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Figure 7: A monotonically adjusted probability profile.

Notes on regularization

The book then presents two functions to more optimally estimate the probability a sample
of the spread s; crosses a certain number of sigma away from the mean given the raw count
based estimate. The first is a simple monotonic adjustment of the probability curve and
is implemented in the python code probability_monotonic_adjustment.py. An example
count based probability curve estimate and the resulting monotonically adjusted probability
estimate can be seen in Figure 7. The second adjustment is based on imposing a penalty
for non-smooth functions. This penalty is obtained by adding to the least-squares cost
function an objective function that is larger for sample estimates that are non-smooth and
then minimizing this combined cost function. The book suggests the following cost function

cost(z;y) = (y1—21)*+ (y2— 2)* + -+ (Yo — 20)°

+ Mz — 2+ (22— 2)2 + -+ (21 — )] (37)
where y; are the monotonically smoothed probability estimates and z; are the smoothness
regularized probability estimates obtained by minimizing the above cost function over z. As
many optimization routines require the derivative of the cost function they seek to minimize
we find the derivatives of cost(z;y) with respect to z as follows. For i = 1 (the first sample)

Ocost(z;y
% = —2(y1 — 21) +2\(21 — 22) .
21

for2<i<n-1

o\ s N\
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Figure 8: Left: Estimates of the probability a sample of the spread is greater than the given
number of standard deviations from the mean. Right: Estimates of the profit profile using
the three methods suggested in the book.

and finally for the last sample i = n

dcost(z;y)

The process of selecting a grid of A values, minimizing the above cost function as a function
of z and selecting the final estimate of z to be the one that gives the location of the “heel”
in the cost vs. log(A) curve is done in the python code probability regularized.py.
Demonstrations of the output from these commands is shown in Figure 8, where we have
used 25 points to sample the range [0, 2.0] of the z-transformed CAT-HON spread. Despite what
the book states, the results obtained from each of these procedures appears quantitativly
the same. Regularization is known to help more when the number of samples is very small.
Perhaps this is an application where these procedures would be more helpful.
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